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m Q: Eight colleagues V,B,T,H,J,N,O,P are sits in a circle table facing the centre. *V sits
- second left of that colleague who is 4t right of N who is not neighbour of O who is not
neighbour of P*N is not infront of J who is sits between H and B. *T is second right of

that colleague who is infront of O who is neighbour of V. Who sits immediate left of P ?
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Here some Conjunction is also used instead of name of
candidate.
In that case:
* AND / BUT /, / IS — first person
*WHO/WHOM/WHOSE/WHICH - second person



Here some Conjunction is also used instead of name of
= candidate.
In that case:
* AND / BUT /, / IS — first person
*WHO/WHOM/WHOSE/WHICH - second person

In a circle A is 2"¢ left of B who is 37 right of C and is 2"? |eft of D.




7 friends AB CD E F G are seated in a row facing north.
Only three people sits to the left of A.

Only one person sits between A and C .

C sits immediate right of B who is right D.

F does not sits at any end of the row.

G sits any extreme end of the row and 2" |eft of D.

How many friends are sits between A and E ?
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Six friends are sitting in a straight line (but not necessarily in the same order).
Some of them are facing south while some are facing north.
B Is sits immediate right of A and immediate left of C

Tis 4" right of M and is immediate right of Z.

B,T are facing south.

M is sits second left of B and third left of C.

Who sits 29 right of c?

e [T U A 3@r # 9 § (Afched STEY A2 b 247 shaA A &)
SAH H P DT HW GIETUT T 3R & STelich S bl AW 3a & 3T B
B,Aé%%:ﬁaﬁaa%mcasa—cﬁarﬁaa%

T, M & 13 AT § 3R Z & Sib g &

B,T &1 W Gf&TuT &l 3R &

M, B & a1 & g TUTH W 3R C & a1 AR FATH WX 43T &
C & G U gAY TUTH WX il 0T 2

Z > W N



* 6 person are sitting in two parallel rows containing

1-B three people each, in such a way that there is an equal
2-P distance between adjacent persons.Inrow-1S5S, M,
EN and P are seated and all of the are facing south. In row
4-7/B -2 Z, B and A are seated and all of them are facing

north.

« A faces to that person who is immediate left of P and
does not sits at any extreme end of the row.

« Swho does not sits at any extreme end is immediate
right of M.

 Who is sits immediate right of A?
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